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 הערות:

 התשובות המוצגות כאן הן בגדר הצעה לפתרון השאלון. .1
 

 מוזכרות כאן, לחלק מהשאלות.תיתכנה תשובות נוספות, שאינן  .2

 

http://my.geva.co.il/
http://geva.wisedev.co.il/psychometry/
http://my.geva.co.il/
http://geva.wisedev.co.il/psychometry/
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 תשובות נוספות- ראה נספח נוספות -ראה נספח

Because he walks very slowly so crossing the street is dangerous. 

People are always taking pictures of him.  



 

 

 

 תשובות נוספות- ראה נספח נוספות -ראה נספח

that she got 400 emails (from people who wanted the job). 



 

 

 



 

 

 



 

 

 



 

 

 

 
 
 
 
 
 

 
 

 
 

 :3שאלה 
- Because crossing the street is dangerous for him.  
 

 

 :8שאלה 
- that (so) many people wanted the job.  

 

 

 נספח
 'אשאלון  

)MODULE A( 
 תשובות אפשריות נוספות

 

 

 




